ST. ANDREWS SCOTS SCHOOL

Adjacent Navniti Apartments.
L.P. Extension, Patparganj, Delhi-110092

(Session 2025-26)
Subject: Maths Class: II1 Ch- 2 (Addition)

Questions to be done:

Warm up
Practice time (Pg-34,35) book

Ex1- Q-1,2 Book
Ex2- Book
Ex3- Q-2,3,5 Notebook

Ex4- Q-1 (a), (b)
Q-2 (a), (b) Notebook



Warm Up
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Exercise-1

1 () 1234 (b) 3253 (9 2336 (d) 1762
£2341 44123 + 4351 +7126

3575 7376 6687 3888
€ 5008 () 4238 (o) 4167 (n) 7002
1250 1120 1210 1100
#3011 +3530  +1321  +1056
9269 3888 6698 9158

2@ OO0 p 000 (© 000 () OO0
7728 5999 7409 7359

+1466 +3297 +1675 +1843

9194 9296 9104 9202

015 o 999, o 90 4 %0

4321 3250 1095 2518
+1138 +2785 + 2548 +1476

6693 8034 59838 7668




Exercise-2

1. 8+92+1732 = 1832 2.123+4321+91 = 4535
00) @)
1732 4 321
9 2 123
+ 8 + 91
1832 4535
3. 388+2188+8 = 2584 4. 3456 +213+23 = 3692
00) @
2188 3456
388 213
+ 8 + 23
2584 369 2
5. 4567 +237+31 = 4835 6.1521 +312+35 = 1868
QO 1521
4567 312
237 5 35
+ 31 1868
4835

Practice Time

Number +10 +100 + 1000
219 229 319 1219
3478 3488 3578 4478
4215 4225 4315 5215
7007 7017 7107 8007
8314 8324 8414 9314

Practice Time
1. 319 2. 435 3. 630 4. 4237
5. 436 6. 500 7. 2356 8. 1736



Exercise-3

. Number of bottles delivered in the two months 2537
=2537 + 3212 =5749 +3212
Thus, the milkvan delivered 5749 bottles in the 5749
two months.
. Total money spent by Mohit 000
= ¥3545+ T5499 3545
_ 79044 +5499
904 4
Thus, Mohit spent ¥ 9044 in all.
. Total number of students =1249 + 1399 = 2648 1 %)C;? 9
+1399
Thus, there are 2648 students in the school. 2648
. Total number of items = 1524 + 987 = 2511 000
1524
Thus, 2511 items in total are distributed among the + 98 7
students. 2,51 1
. Total weight carried = 1275 kg + 1585 kg = 2860 kg 00
Thus, the total weight of rice and wheat carried L 2.9 5
. +1585
by the truck is 2860 kg. 5860

Exercise-4

. (a) 368 isrounded off to the nearest tens as 370.

38 is rounded off to the nearest tens as 40.
Estimated Sum Actual Sum

0 00)
370 368
+4 0 +3 8
410 406

(b) 112 is rounded off to the nearest tens as 110.
92 is rounded off to the nearest tens as 90.

Estimated Sum Actual Sum

© ©

110 112
+9 0 +9 2
200 204




(c) 156 is rounded off to the nearest tens as 160.
32 is rounded off to the nearest tens as 30.

Estimated Sum Actual Sum
160 156
+3 0 +3 2
190 188

2. (a) 569 is rounded off to the nearest hundreds as 600.
418 is rounded off to the nearest hundreds as 400.

Estimated Sum Actual Sum
@
6 00 56 9
+400 +418
1000 —9 3 7

(b) 215is rounded off to the nearest hundreds as 200.
302 is rounded off to the nearest hundreds as 300.

Estimated Sum Actual Sum
200 215
+300 +302
500 517

(c¢) 314 isrounded off to the nearest hundreds as 300.
520 is rounded off to the nearest hundreds as 500.

Estimated Sum Actual Sum
300 314
+500 +520

800 8 3 4
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